
Multiply by Negative Powers of Ten (H)Find each product.
4 × 0.1 = 89 × 0.001 =
60 × 0.01 = 75 × 0.001 =
85 × 0.001 = 96 × 0.01 =
45 × 0.1 = 82 × 0.001 =
62 × 0.01 = 90 × 0.001 =
88 × 0.1 = 7 × 0.001 =
16 × 0.01 = 78 × 0.001 =
24 × 0.01 = 40 × 0.1 =
72 × 0.01 = 73 × 0.1 =
50 × 0.1 = 40 × 0.1 =
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Multiply by Negative Powers of Ten (H) AnswersFind each product.
4 × 0.1 = 0.4 89 × 0.001 = 0.089
60 × 0.01 = 0.6 75 × 0.001 = 0.075
85 × 0.001 = 0.085 96 × 0.01 = 0.96
45 × 0.1 = 4.5 82 × 0.001 = 0.082
62 × 0.01 = 0.62 90 × 0.001 = 0.09
88 × 0.1 = 8.8 7 × 0.001 = 0.007
16 × 0.01 = 0.16 78 × 0.001 = 0.078
24 × 0.01 = 0.24 40 × 0.1 = 4
72 × 0.01 = 0.72 73 × 0.1 = 7.3
50 × 0.1 = 5 40 × 0.1 = 4
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